
math4u.vsb.cz

RELATIVE POSITION OF CIRCLES

TABLE–SELECTION GAME

Select one correct answer for each of the questions in the test and press the
Finish button at the end. The answers will be validated automatically.
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Javascript. For full funcitonality you have to use the Javascript
capable PDF browser. Currently only Adobe Reader is
available.



FINISHSCORE

Let p be a line containing the points S4, S1, S3, S2 in this order, where |S4S1| = 1 cm, |S1S3| = 1.5 cm,
and |S3S2| = 3.5 cm.
Further, let k1, k2, k3, k4, and k5 be circles with the centers S1, S2, S3, S4, and S2 (again) and radii
r1 = 3 cm, r2 = 2 cm, r3 = 1.5 cm, r4 = 1.5 cm, and r5 = 8 cm respectively. Determine the relative position
of the circles.

1. k3, k4

the circles intersect
at two distinct

points
the circles touch

externally
the circles touch

internally

the circles have no
point of intersection

and one circle is
contained in the

other

2. k1, k2

3. k1, k3

4. k1, k4

5. k1, k5

6. k2, k3



Wait! Sheldon might get jealous!Great, you are very good at this!Perfect, keep it up!You can go celebrate!You outdid yourself today!Hermione’s top of the class title is almost on the
line.

A small step remains,
next time will be glorious!
You made some mistakes,

but you still deserve praise.
Great. Next time you won’t make any mistakesAlmost there.

I’m sure you’ll even do better next time.
Not great, not terrible.

You are somewhere in the middle.
Making mistakes is better than faking perfection.It is not bad, but it could be better.Don’t worry, your result is more than half correct.Everyone can make a mistake. What’s important is

to learn from it and don’t give up.
You got it. Don’t throw in the sponge!Keep trying. It will be better next time.You avoided an F, but that doesn’t mean you don’t

have to study more.
Pity, you might need to practice more.Could be worse!This is like a foreign movie to you;

you still need subtitles.
Next time don’t multiply your knowledge by zero.The stars weren’t aligned in your favour today.The awkward moment, when you finish a math

problem and your answer isn’t even one of the
choices. . . .

For this test - the goose is in the oven!
Try another test.

Correct answers:




